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EAX#HE= dt-FTHA | hE -0 | B-FWHAK 2 E HAHE [demd - 5=t | BAE - JbBE | hEf - 5 | hE - mE | AW - hiE £H
THIE 1,755 1,439 1,353 1,482 F 1B 1,399 1,092 1,148 1,359 773 1,179
= 1 %1 mo R 690 733 678 520 443 604
fﬁ ! ﬂ‘fﬁ 652 748 662 694 %= 3 ma s 1,951 1,137 1,346 1,793 1,038 1,418
% 3 P i 3 2,783 1,607 1,722 1,780 1R 1262 204 o8 1273 94 814
IQR 2,132 859 1,060 1,087 EREBRA 3,844 1,743 2,348 3,703 1,929 2,639
LTRER S 5,981 2,895 3,312 3,411 B 67 47 57 49 44 264
B 28 28 50 106 B4 IE 1.140 1.067 1.022 1.052 0.687 1.000
o 9B 4@ 1 1.003 1.000 1.003 1.000
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h 3 {iE 895 774 1,078 685 710 810| | &iE 695 682 596 628 557 639
1 USRI 663 629 656 554 459 575| |5 1 U HrEk 597 570 547 541 468 556
E 3 MR 1,446 1,241 1,449 1,053 1,149 1,333] |5 3 W%k 775 814 701 864 895 779
IQR 782 612 793 499 690 758| |IQR 177 244 154 323 427 223
FREBERS 2,619 2,160 2,638 1,802 2,184 2,471 | ERAER A 1,041 1,181 932 1,348 1,535 1,114
B 58 60 63 42 62 285| |B# 30 78 51 27 23 209
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% 3 MR 152.5 78.3 89.5 96.4
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FTRERR 324.5 138.9 173.8 187.0
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AEAME [diBE - mob| B - e | hEp - AE | PE - WE ) A - iR £E
FEHE 74.8 54.4 57.1 74.4 39.7 61.5
FR{E 55.9 44.6 41.8 43.1 27.8 43.1
F1ESEE 37.2 36.4 34.5 26.7 22.7 31.8
F£ IO 98.4 56.2 67.5 92.4 52.1 73.5
IQR 61.2 19.7 33.0 65.7 29.5 41.7
EtRBERA 190.2 85.8 116.9 191.0 96.3 136.1
B 67 48 57 51 44 267
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